5.5
p. 454: 9-17 odd, 21-49 odd, 51-53, 70-71
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13. (u+4){2u+1)du=_[{2u:+9u+4)du=2%+9%+4u+£‘=§u3+%u2+4u+0

15. J‘M_—Xde =I{l+£+£]:ﬁ =‘|‘[l+1c_""2 +1]dx= ln|x|+Ex]"'E +x+C= In\x|+2v"3_r+x+C
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17, J+]+rdr=‘|‘(l+].1a’r=]*(r_l+])dr=ln|r|+r+C=ln|r|+r+C
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23. J‘(cos x+1x)dx=sinx+1x*+C. The members of the family in the figure correspond to
C =-5,0,5, and 10.

21. J‘z‘{1+5=)dr=j(2f+2*-5*)d:=j{2’+10f)d:=

l;
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23, i 3 .
25. | (* =3)dx=[{x" =3x] =(9—9}—{_g+5)=%_%=_1_3

27. [ (3t 458 =)t =[5+t 12T = 0-[ (3D + k16~ 1A ]=~(-¥+1-2)=F
29. [:(2x—3'}(4f +1)dx=[;(3f —122% + 22 =3)dx =| 2x* 4’ +f—3x]; =(32-32+4-6)-0=-2

31 [(Se" +3sinx)dx =[ Se" —3cos x| =[S5e”—3(~1)|-[S()—-3(1)] = 5" +1

= =7

33. J (4+6H)du j[ 4 6!"}&’:;—] (4u 2 6u'? d'u=[8:.*]"':+4u'1'r:]:=[16+32}—[3+4)=36
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35|t(x+J_) =|[x +x ]-:ir[x +4°4J_i%_
a2 2 1 1 3
37. |, (%—ﬂdx:hf_mﬂﬂ_] =[1—2[1‘12}—(E—21n1]=1—2ln2

) 1 -l : :
30, [[(x"+10%)dr = x 10 =( L, 10 ] [0+L]=l+i
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41.-'4[4-{_‘,05]5 al4 cos &
41'.'[: cos’ @ _.L (cos 8 cos’ 5’] 7= '[ (sec EH]

=[tan5+€] =tanZ+Z-(0+0)=1+Z

43. J‘Isi\/‘!;dfzj‘ls(:f? = ]df J (2 -23_’_fl_-'s]dfZ[z_zr]-ﬂ_'_%ri-ﬂ]f ={12+12)—(6—%)=%

45. J'fz — arcsin 7] =arcsin (v/3/2)-arcsin0 :%‘ 0 :%
1-#°
E 1 P NI ,
47 Ju]n :4_1df=I[: 3(33_:)(;2_'_1){]?{:.'[: 7 =[31‘C’fﬂm’];ﬁ=arctan(l;"~/§]—ar{:tan[}
29, [ (x—2f)dr =" [x—2(0)]dx+ [ [x—2@)]dr= [ 3xdx+ [ (w)ax=3[1x*] [42]
=3(0-3)-(2-0)=-3=-35

51. J[Enf 2 ]dr [(37+267)de =1 26 +C=r3—E+C, option (C).

l
52, j— I(f+ ]ﬂ’r—L(] ) =[2207 4 20 ] <[227)+203) {2 (8)+2(2)]
=18+6—1—4 == option (B).
. l.:-4{c05x—sinr}dt=[sinx+(:05x];.-'4:{gin§+cos )- (smﬂ+ms[:l)=(£+ ) 0+1)=+2-1.
This is option (B).
70. (@)V(H) =a(t)=t+4 = v(t) =1t +4r+£f =90)=C=5=2wt)=1t"+4t+5 m/s.
(b) Distance traveled = J. v(t)|dt = lr +4r+5|dr f { 1 +4r+5)dr [ t +21° +SJ‘]D
2 +200+50= 416§

T (av () =a(t)=2t+3=v(1)=r +3t+C=v0)=C=-d =v(t)=1t"+3r -4
(b) Distance traveled =

J*;|1f‘(f)|df = |;‘f2 +3¢ —4‘.':# = |:|(.f +4)(t-1)|dt = j;[—rz —3t+ 4)dr +‘|*|3(1‘2 +3¢ —4)dr

[
(

_Lp_3f +4:‘]:J +[ 1 +17 —4r]:
1-24+4)+(9+Z-12)—(3+3-4)=2m
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